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QUESTION 1 

1.1 

              
 

 

 
1.1.1 

PQ

PR
 

✓ answer 

                                             (1) 

1.1.2 

PR

QR
)90sec( =−   

✓✓ answer 

                                             (2) 

1.2.1 

260

15

25-sin(40

,=

)°sin(=

)°°

 

 

✓ sin 15 
 

✓ answer 

                                             (2) 

1.2.2 

 
( )

06,4

12,5tan

1
 -

2

25 cos

2

25
cot -

2

25 cos

−=

=






 

 

✓ correct substitution 

 

 

 

✓ answer 

                                             (2) 
   

1.3 

    
   

1.3.1 

13

5
cos

13

125

pythagoras of Theorem

222

222

=

=

+=

−+=



r

r

yxr

 

 

 

 

 ✓ 13=r  

✓

13

5
cos =  

                                                             (2) 
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                      [11] 

 

QUESTION 2 
 

2.1 ( )

1=

2

1
+

2

1
=

0-)
2

1
(+

2

1
 =

0°sin -45°tan+cos60°

2

2

 

 

✓ 
2

1
 

✓

2

2

1








 

✓0 

✓  

                                                              (4) 

2.2.1 

( )
40,39=

0.648sin=

0.648=sin

0.2× 3.24=sin

3,24=
0.2

sin

1,24=2-
0,2

sin

1-

x

x

x

x

x

x

 

 
 
 

✓3,24 

 

 
✓ 648,0sin =x  

 
 

✓answer 

                                                              (3) 
2.2.2 





60=

30=
2

3

1
=

2
tan

0=
3

1
-

2
tan

x

x

x

x

 

 
 
 

✓

3

1

2
tan =

x
 

✓
= 30

2

x
 

✓answer 

                                              (3) 

                                      [10] 

 

 

 

 

 

 

 

1

1.3.2 ( )

169

289

13

17

13

5

13

12

sincos

2

2

2

=









=









+=

+ 

 

 

 

 

✓substitution 

 

 

 

 

 ✓ answer 
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QUESTION 3 

 

3.1      °.3600forcos2)(andtan)(  x°  x  =x  gx   =xf  

 

 

 

3.2.1 Period = °180   ✓answer 

                                    

                 (1) 

 
3.2.2 Amplitude = 2 ✓answer                                               

 

                 (1) 

( 
3.3.1 

°360 

0° 

=

=

x

x
 

✓ 0° =x  

✓ °360 =x  

                                       

                 (2) 
( 

3.3.2 180 =x  ✓answer 

                 (1)                         
                                                                                                                                                     [13] 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

f graph  

✓y-intercept 

✓x-intercept 

✓Asymptotes 

✓Shape 

 

g graph 

✓y-intercept 

✓x-intercept 

✓T.P 

✓Shape 

 

                

 

 

 

 

  (8) 
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QUESTION 4 
 
 

P(0;3)  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

                [10] 

 

 

4.1  
2 2 2

2 2 2

2

OQ OP QP [Pyth]

3 5

16

4

4

a

a

a

a

+ =

+ =

=

= 

 = −

  

 

✓ substitution 

 

 

✓ answer    

                                    

                                       (2)                               

4.2  

2 1

2 1

3

3 0

0 ( 4)

3

4

3
3

4

c

y y
m

x x

y mx c

y x

=

−
=

−

−
=

− −

=

= +

 = +

  

 

✓ y −  intercept/ 3c =   

 

 

✓ substitution 

 

 

✓ 
3

4
m =   

 

✓ answer 

                                       (4) 
 

4.3 

)
2

3
0;(  M

2

3+0
;

2

0+0
  M

2

y+y
;

2

x+x
  M 2121



















 

 
 

✓ substitution for x and y  

 

✓ answer      

                                     

                                       (2)                             

4.4  

   R(4 ; 3) 
✓ 4 

✓ 3 

                                       (2) 
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QUESTION 5 
 

                               [13] 

 

 

 

 

 

 

 

 

 

 

 

  

  
 

5.1 

  Δ]in =sides [2  isocelesan  is  ΔDCE

ABCD] parm a of sides  opp[BC=AB

given][EC=AB

 

✓S/R  

✓S/R  

✓R  
 

          (3) 

5.2.1 

]=

=

=

=

FDAB s'∠[alt  x  DFA

]FDAB  s'∠[corr  x E

]BGAD  s'∠[alt x E

BAD] bisects [AEx  

∧

4

1

2A

 

✓S  ✓R  

✓S  ✓R  

✓S  ✓R  

✓S  ✓R 

           

          (8) 

5.2.2 
Δ] a of  s' of [sum2x 180B −=



 
✓S  ✓R  

 

          (2) 
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QUESTION 6 

 
 

  
6.1 45 =KD̂N  [MD bisects LD̂N ] 

 

OR 

NDK] Δ a of s'  ∠ of [Sum    45=KDN∴

LD]  ND sides;  opp s '  [∠45°=LND

] kite of [diagonals 90°=NKD

∧

∧

∧



==  

 

✓S    ✓R 

 

 

 

✓method 

 

✓answer 

                                        (2) 

6.2 

2

30
NK

30sin45NK

30

NK
=sin45

ND

NK
=sin45

=

=





 

 

 

 

✓

30

NK
=sin45  

✓ = 30sin45NK  

 

                                         (2) 

6.3 

( ) ( )
1015=NM

230+215=NM

MK+NK=NM

230=215-245MK

DK-DMMK

22
2

222

=

=

 

 

✓MK=DM–DK  

✓ 230MK =  

 

✓substitution 

        

(3) 

                                      [7]  
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QUESTION 7 
 

  

  
 

7.1 

side] 2nd  tomidpoint  through [Line ECAE

[given]  DB  AD

given-BCDE

=

=  

 

✓S 

✓SR  

✓conclusion 

                                     

(3) 

7.2 

AC  DF

s'  ∠given/corrDAE=BDF
∧∧

 

✓S   

✓R 

                                     

(2) 

7.3 AC  DF  and AD = BD [proved above] 

⸫BF= FC side] 2nd  tomidpoint  through [Line  

✓S   

✓R 

                                      

(2) 

7.4 

]90angles

  ,  and    sides [opp rectangle a is ADFE∴

] isocelesan   benot   will[ADE AE≠AD

] Δ  of  s' ∠ 60°[=D
∧

=

=



 

 

✓S 

✓S    ✓R 

 

✓R 

(

(4) 

                                    [11]
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